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1. What is the value of o (a0 # 0) for which
x% — 5x + o and x? — 7x + 20 have a common
factor ?

(a) 6
(b) 4
(e) 3
d 2

2. How many numbers from 1 to 1000 are
divisible by 2, 3,4 and 5 ?
(a) 16
(b) 17
() 32
(d) None of the above

3. What are the factors of x3 + 4x% — 11x — 30 ?
(a) (x-2),(x+3)and(x+5)

(b) (x+2),(x+3)and(x-5)
(¢ x+2),x%-38)and((x+5)
(d (x+2),(x-3)and(x-5)

4, If x = 111...1 (20 digits), y = 333...3
(10 digits) and z = 222 ... 2 (10 digits), then
what is = —zyz equal to ?

@ 3
(b) 1
() 2
d 3
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5.

6.

(2-A)

What is the positive value of m for which the
roots of the equation 12x% + mx + 5 = 0 are in
theratio3:27

(a) 5v10
b S0
12
© -
@ %

Let f(x) and g(x) be two polynomials (with real
and 4
respectively. What is the degree of fix)g(x) ?

coefficients) having degrees 3

(a) 12
(b)) 7
(c) 4
d 3

If 5x2 + 5x2 — 6x + 9 is divided by (x + 3),

then the remainder is

(a) 135
(b) —135
(e¢) 63
(d -63

The product of two non-zero expressions is
(x + y + z) p°. If their HCF is p2, then their
LCM is

(a) xE+y+2)
() (x+y+2)p?

() E+y+2z)p°
d GE+y+2)p
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@ (a#0) H F& AA T 7, fEs fm
X2~ 5x + o A x2 - Tx + 20 T TH TE UHGEE
&I 8 7

(a) 6
(b) 4
() 3
(d 2

1 ¥ 1000 T Toha+l &AM 2, 3, 4 3 5 9
== g 0

(a) 16
(b) 17
(e) 32
(d) I9EE A W IS TE

x3 + 4x2 - 11x - 30 %gmgw%?'
(a) (x-2),(x+3)3M(x+5)
(b (x+2), (x +3) AN (x-5)
() (x+2), (x—3)3ﬂ'_((x+5)

d (x+2),(x—3) I (x-5)

afe x=111...1 (20 3%h),

y =333 ...3 (10 3) 3
2

z =222...2 (10 3f%) &, @ X_zy [EZ:ED
T 8 ?

(a) %
b 1
() 2
(d) 3

(3-A)

m 1 98 YATcAS A o497 8, forees fon i
12x2 + mx + 5=0% H& 3: 2% JAJIAH & ?

(a) 5410

5410

(b) 19

() —

d —

m?ﬁﬁ‘!ﬂx)aﬁ?g(x)aaﬁlﬁ (CESIEED
Turiehl 3 @rer) §, freeht Rl e s et 4R |

fx)g(x) i feft = 8 2
(@) 12

b) 7

© 4

@ 3

I 5x3 + 5x2 — 6x + 9 FH (x + 3) W S
e Stam 2, 41 I9%a =T R 2

(a) 135
(b) -135
(e) 63
(d -63

Tl YT AR BT AR (x +y +2) p° B |
afe 3 HEaH gHgads (HCF), p? B, df 3!
AHAH THMYES (LCM) 9T 8 ?

(a) (x+y+32)
®) (x+y+2) p2

() (x+y+2)p°
d E+y+2)p




9. If the points P and Q represent the real|12. If a train crosses a km-stone in 12 seconds,
numbers 0-83 and 0-62 on the number line, how long will it take to cross 91 km-stones
then the distance between P and Q is completely if its speed is 60 km/hr ?

21 (a) 1hr 30 min
(a) %
(b) 1hr 30 min 12 sec
19 i
g =2 (¢)  1hr51 min
90 )
(d) 1hr1min 3 sec
© 81
(e) —
“ 100
13. In a 100 m race, A runs at 6 km/hr. If A gives
i@y D8 B a start of 8 m and still beats him by
B 9 seconds, what is the speed of B ?
: (a) 46 km/hr

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12:5% and 5%. LR
The actual deduction will be (¢ 52km/hr

(d) 54 km/hr
(a) 335%
W o 14. The quotient of 8x® — y® when divided by
() 32% 2xy + 4x% + y? is
@ 35% (@) 2x+y
(b) x+2y

11. A fruit seller has a certain number of mangoes (c) 2x-y
of which 5% are rotten. He sells 75% of the (d) 4x-y
remainder and he is left with 95 mangoes.

H did he h iginally ?
PRARATR AR A IR NSRRI 15. If(x + 2) is a common factor of x2 + ax + b and
(a) 500 x? + bx + a, then the ratio a : b is equal to
(b) 450 (@) 1
(b) 2
(¢) 400
(c) 3
(d) 350
(d 4
STS-M-TPT (4-A)




10.

11.

STS-M-TPT

" (a

I fomg p offt Q & T W arafas e
0.83 3 0.62 i frefig @ 8, @ P 3R Q
AT highi e ?

21

90

19

b s
(b) 30

21

(c) m

56

(d) 30

d AT el 20%, 12-5% R 5% o @19,
gt 3 v el @idt | FH W arafoss Hd
ERIR I

(a) 3356%
(b)  30%
(©  32%

(d) 35%

Th Bl fashar o uw T Ffvea @@ d@ am
2, i & 5% w2 gL 2 | 98 9 A F 75%
AT AT B R ITF I 95 W §9 W § |
FN ¥ 3@ g foha 3w o 2

(a) 500
(b) 450
(e) 400

(d) 350

12. U #Hia fofga veor 9 w® 1 km fo@n 2, =t

13.

14.

15.

(5-A)

IR A H Afg Tk 39 12 Tehe ot 8, @ Uk
Y qeer I o W 91 km for@n 28, gff @8 4R
wE T o9 feam mwa o, 3z = Hr afa
60 km /EI2T 8 ?

(a) 1791 30 fime
(b) 17%er 30 fiFe 12 Ths

(¢ 19 51T

(d) 1% 1fFe 39%s

100 m =h! T BI$ H A, 6 km/HeT & digar & |
afE A, B 8 m 31 & drex ! famd a1 &
3 T oft B =1 9 TUehe ® 80 2ar 2, df B
AT T - ?

(a) 46 km/=eT

(b) 48 km/ST
() 52 km/&el
(d) 54 km/=aT

8x3—y35|'ﬁ 2xy+4x2+y2ﬁﬁmﬁlﬁmefm
WAl &1 BI0TT 2

(a) 2x+y
(b) =x+2y
() 2x-y
(d) 4x-y

?Tfi(x+2), x2+ax+b 3N 2 +bx+a hl Uch
T UFEE 7, 91 STIT a : b fohueh SUeT & 2
(a)
(b)
(c)
(d)

= W N =




16. Let : 19. The factorsof x(x+2) (x+3)(x+5)—72 are
flx) =agx"+a; x" 1+a,x"2+..+a__,x+a_, (a) x,(x+3),(x+4)and (x-6)
where a, a,, a,, ..., a_ are real numbers. (b) (x-1),(x+6)and (x2-2x-12)
If f(){) iIS divided by (a.x e b), then the (C) (X - 1)’ (X + 6) and (xz +5x + 12)
remainder is
(d) (x+1),(x-6)and (x*-5x-12)
(b
a) f -—]
B 20. Ifthe HCF of polynomials
(b) ff— E) : fix)=(x—-1) (x%2 + 3x +a) and
v & gx)=(x+2) (x2+2x + b) is (x2 + x — 2),
(c) ff a ] then what are the wvalues of a and b
\b respectively ?
’
@ f __3] (a) 2,2
. b ' b 2,-3
(¢ -1,-38
17. Consider the following numbers : @ =2-1
1. 2222 21. a, b, ¢, d are non-zero integers such that (ab)
2 11664 divides (cd). If a and c are coprime, then which
3. 343343 one of the following is correct ?
4 220347 (a) aisafactorofec
Which of the above are not perfect squares ? (b) aisafactorofb
(a) 1,2and3 (¢) aisafactorofd
(b) 1,2and 4 (d) disafactorofa
2,3 and 4
2 = 22. If the roots of the equation
@ Ldandd alb-c)x2+b(c-a)x+c(a—-Db)=0are
equal, then which one of the following is
18. The product of the polynomials (x + 2), (x — 2), correct ?
(x3 - 2x2 + 4x — 8) and (x® + 2x% + 4x + 8) is B | BB =k
. _
(a) x%-256 (b) b?=ac
4 _10y2
(b) (x*-16) - 2 1 +1
(c) (x*+16)? b a ¢
@ &2-9 iy Eelal
b a

STS-M-TPT  (B-A)



16. M i 19. x(x+2)(x+3)(x+5)—72§-?§01=ﬂ§'3%
Zy..+a,  x+a, (a) x,(x+83),(x+4) 3 (x-6)

%, G{ﬁao, ay, g, «.y aumﬁﬁ FI@T'E% |

g fix) B (ax - b) ¥ fawifa e s, @
B FT EAT ?

fix) = a, x4 ay xn-1,4 ay X0=
b)) (x-1),(x+6) M x2-2x-12)
(€) (x-1),(x+6) 3 (x2 +5x +12) -

(d)  (x+1),(x—6)3M (x%-5x-12)

"
(a) fE]
a
» 20. I TEIE flx)=(x-1)x2+3x+a) IR
(b) f\-ﬂ gx) = (x + 2) 2 + 2x + b) 1 HETH HHIAAH
y (HCF), (x2 + x — 2) &, @ a 3R b & AH U
(a) 2,2
o {3
b (b)  2,-3
e -1,-3
_ @ -2,-1
17. frafafes gest w famr Hifsw
1. 2999 21. a,b,c,d$H Hmlt%ﬁl‘—adl‘:ﬁ'lﬁ%ﬁﬁ(ab),
2. 11664 - (cd) sl faarforg =t 2 | Afg a 3R ¢ 3@RAY
3. 343343 8, m Frfafes 3 @ SR w6 R 2
4. 220347 | (a) a,c® HEES B
I § ¥ B gl af 7 E o (b) a,bH PHEES B
(a) 1,233 (¢ a,dH TIHES 7
(b) 1,23M 4 | (d) d,ad UHES 8
(c) 2,33 4.
@ 1,334 22. g FHIHT
abb-cx®+b(c-a)x+ca-h) =0%qd
SR &, o Fefofea 4 @ s w2 2
18. FEUG (x + 2), (x - 2), (x% - 2x% + 4x - 8) 3N (a) 2Zb=a+c
(x® + 2% + 4x + 8) T UGS T B ? ‘
(b) b?=ac
(a) x3%-256
g 3 1
4 N2 e e I
(b) (x*-16) (c) b a+ =
(e (x*+16)? _—
@ 2—4t B B

STS-M-TPT (7-A)




23. The non-zero solution of the equation
Al g? b-x c—X b — x?
A8 - - , Wwhere
bx c b cX
b#0,c#0 is
b? +ac
(@) ——s
b2 + ¢?
b2 - ac
)
2 _
(c) ———b2 agc
b” +¢
b2 +ac
(d) b2 C2
24. Ifkis an integer, then
xz+7x—14[k2-gJ =0 has !
(a) Both integral roots
(b) At least one integral root
(c) Nointegral root
(d)  Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?
(a) 36
(b) 37
(c) 38
(d) 39
26. To maintain 8 cows for 60 days, a milkman
has to spend ¥ 6,400. To maintain 5 cows for
n days, he has to spend ¥ 4,800. What is the
value of n ?
(a) 46 days
(b) 50 days
(c) 58days
(d) 72 days
STS-M-TPT

27.

28.

29.

30.

A student has to secure 40% of marks to pass
an examination. He gets only 45 marks and
fails by 5 marks. The maximum marks are

(a) 120
(b) 125
(¢c) 130
(d) 150

What is the value of u in the system of

equations 3 (2u + v) = 7Tuv, 3 (u + 3v) = 11luv ?

(a) O
1
b bl
(b) 1
1
(c) E
d 1

Five years ago, Ram was three times as old as
Shyam. Four years from now, Ram will be
only twice as old as Shyam. What is the
present age of Ram ?

(a) 30 years
(b) 32 years
(e) 36 years
(d) 40 years

Ram buys 4 chairs and 9 stools for ¥ 1,340. If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of T 188. How
much money did he have to pay for the

chairs ?

(a) < 200
(b) ¥ 400
(¢) < 800
d < 1,600




b —x2

2
o3, i 2-X _b-x c-x !

24.

25.

26.

STS-M-TPT

_ bx c b cx
W& b£0, =08, T I A FIT 8 ?

b? + ac
b2 +c2

(a)

b% - ac

O )

b? - ac

(c) — =
b2 + ¢2

b2 + ac
b2 — ¢2

e k T qUIteh 7, ql
x2+7x—14[k2—%] =0 H1/%
(a) QM Yo Il &

(b) HH-T-FHW TH YA YUl 3

(c) =g oft Her qurieh el B
(d) T g o ot &

(d)

500 3 1000 & = fwadt =g, 13 @
favrsar 8 2

(a) 36

(b) 37

(¢) 38

(d) 39

TH GUETH H 8 MR HT WA 60 T 9%
% % fou € 6,400 @ A 9Sd & | 5 A
& WU n Al @6 HW % fog, 3@
T 4800 @ HAIUSAE | nHI AF RT & ?
(a) 46 T3
(b) 50 f&7
() 58T
@ 72

27,

28.

29.

30.

(9-A)

Uk B hI el glien = 9™ @ % A 409
3 U FH & | IU haAT 45 3 UTd B ¢
AT 98 5 JAH T HA B A@T B | ghEm

Sfereray 3T F1 &8 2
(a) 120

(b) 125

(e) 130

(d) 150

g e

3(2u+v)="Tuv, 3(u+38v)=1luv H, u®
9 1 2 2

(a) O

(b)

(e)

o G O N

(d)

uig 9§ Ugd, TH I AP, WM A Y K
faor off | o/ O 9R oY g, TW Fi Y, W
61 A1g I Had I BRI | TH I AN AR
FT 2 ?

(a) 3099

(b) 3294

() 36aTY

@ 4099

T T 1,340 § 4 HEAT 3R 9 | &ligan 7
afe 97 FRE A 10% T W R WAl F
20% WY 9T S=@T 8, af 38 T 188 1 FA AT
BT 7 | HRE % e 36 TR @ i 98
ot ?

(a) ¥ 200

(b) T 400

() ¥ 800

@ ¥ 1,600




31.

32.

33.

subjects ?
(a 0
(b) 20
(c) 30
(d) 40
4. What is (K; ) —2) (%) 5 equal to ?
G-y +@-2°+@Ez-x
1
(a) —'E
1
(b) 3
(e¢) 3
d -3
TS-M-TPT

statement ?
(a) {(x:x+56=5}=9¢
() {x:x+5=5}=(0)

(¢) f{x:x+b5=5}=

(d f{x:x+5=5}={¢)

If ab + be + ca = 0, then what is the value of
a2 i b2 " 82 5
—~be b%—ca c?—ab

(a) 3

(b) 0

(c) 1

d -1

In an examination, 35% students failed in

Which one of the following is a correct

Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the

35.

36.

37.

38.

39.

(10-A)

The value of \/1 + 1}1 + 1 +...

(a) Equalstol

(b) Lies between 0 and 1
(c) Lies between 1 and 2
(d) Isgreater than 2

If log,, 6 = 0-7782 and log,, 8 = 0-9031, then
what is the value of log;, 8000 + log,, 600 ?

(a) 46813
(b) 55813
(¢ 15813
(d 66813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

(a) 24
(b) 18
(c) 12
d 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(b) 150 days
(¢) 100 days
(d) 50days

A tap can fill a tub in 10 hours. After opening
the tap for 5 hours it was found that a small
outlet at the bottom of the tub was open and

41
water was leaking through it. It was then

immediately closed. It took 7 hours to fill the
tub after closing the outlet. What time will be
taken by the outlet to empty the full tub of
water ?

(a) 35 hours
(b) 25 hours
(¢) 20 hours
(d) 17 hours



31.

32.

33.

34.

STS-M-TPT

fr=faflga § & -5 U TE heH B 7
x+85=0bl=¢
:x+5=5)=1{0]

(a) {x
(b) {x
() (x
(d) (x:

v g = b=
X+ 5 =25] = (¢}

Ife ab+be+ca=0 %,?ﬁ
2 % b2 P C2
b2 —-ca c®-ab

a
2

a“ — be
B2

(a) 3
(b) 0
(e) 1

(d)

B HE T

T TE H 35% B ol § B & MY, 45%
B AU F A B T R 20% DA HI T
¥ %o & e | g1 faw § g BN 9 sl
1 afceraar «=1 2 2

(a) O

(b) 20

(¢ 30

@ 40

x-y)(y-2z)(z-x%x)
-2 +y-2%+@-x°

foreeh SIS B ?

35.

36.

37.

38.

39.

(11-A)

\/1+,/1+1J1+... bl HIH
(a) 1% sUe 8

(b) 0AR 1H AT H B
(¢ 132k dwd
d) 29912

It log,, 6 = 07782 3N log, 8 = 0-9031 &,
ar log,, 8000 + log, | 600 ST W T - &

(a) 46813
(b) 5-5813
(c) 1-5813
(d) 6-6813

30 o4fth Ueh 1 ! 40 foa A T L Gehd & |

g 24 T & g 30 wafeai # § $9 3 A
waﬁr?ﬁgﬁmlwﬁﬁ AT A 39 HT
ﬁ@ﬁ%%ﬁ@ﬁﬂﬁt%ﬁi EE
e aret iR T T = R 7
(a) 24
(b) 18
() 12
d 6

4 TGN AT 6 e, Th ©d i 50 & d =
bl 8 | 2 ST 3R 3 92 39 @4 i e
feat o =g iy 2

(a) 200 feH

(b) 150 feA

(¢c) 100TcH

(@ 50t

T A fordl 2o 1 10 92§ W Tehat B | A
@i & 5 € g I8 g T fob 2« hI acll |
T Blel e e g3 o1 3R IWH ¥ 9
@ @ o | 99 3| T §e R Tea T |
freprE 9q T % 91G 9 B WE H 76 A |
ot & W gL o & FeE & Arew | e

w0 H feraar wma @ 2
(a) 357
(b) 2572
() 20 %
(@ 17%¢



40.

41.

42.

STS-M-TPT

A boy went to his school at a speed of
12 km/hr and returned to his house at a speed
of 8 km/hr. If he has taken 50 minutes for the
whole journey, what was the total distance

walked ?
(a)
(b)
(c)
(d

4 km
8 km
16 km
20 km

If 78 is divided into 3 parts which are

proportional to 1, %, % , then the middle part

is
(a)
(b) 13

(c)

(d)

There are 350 boys in the first three
standards. The ratio of the number of boys in
first and second standards is 2 : 3, while that
of boys in second and third standards is 4 : 5.
What is the total number of boys in first and

third standards ?
(a)
(b)
(c)
(d)

302
280
242
230

43.

44.

45'

(12-A)

The difference between the compound interest
(compounded annually) and simple interest on
a sum of money deposited for 2 years at
5% per annum is ¥ 15. What is the sum of
money deposited ?

(a) 6,000
(b)
(c)
(d)

< 4,800
< 3,600
T 2,400

When prices rise by 12%, if the expenditure is
to be the same, what is the percentage of
consumption to be reduced ?

(@) 16%%
(b) 10%%
© 16%%
@ 10-2-%

A man rows down a river 18 km in 4 hours
with the stream and returns in 10 hours.
Consider the following statements :

1 The speed of the man against the stream
is 1-8 km/hr.

2, The speed of the man in still water is
3'_15 km/hr.

3 The speed of the stream is 1-35 km/hr. '

Which of the above statements are correct ?

(a) 1and2only
(b) 2and 3 only
(c) 1and3only
(d 1,2and3



40, Uh WSH 12 km/de FH I 8 T I
TR T 3R 8 km/He I AT B AT W ATTH
e | 3fe | TR % fow 3Ee 50 e forg, ot
a8 Pl fepat glt = 2
(a) 4km
(b) 8km
(¢) 16 km
(d) 20 km

41, 3¥fe 78 = 3 fewt A fawfa fen s i
_1,%,%%a§maﬁ%,?haﬁaam%w
feram 2 2
(a) 23—8
(b) 13
© 2

55
(d) 5

42. UEE! € FHEAT T oA 350 WSH B | TR AR
qall wEm & aSH K wENHA! 7 2 : 3 H
U B, Jafh gEd R el wam § dASH
6 @A HT U 4 : 57 | Tgedt AR fred
SheTTeTl o TSl hl Hoal dEAT fohal B 2
(a) 302
(b) 280
() 242
d) 230

STS-M-TPT

43.

44.

45'

(13=-A)

2 981 @ Y 5% b1 arfifer g 9 5T < TS TH
TR W Tehalg ST (MM €9 | FIIM)
ST ETYNO ST o1 K T 158 | ST <hl 78
SENEED R

(a) ¥ 6,000
(b) ¥ 4,800
(¢) ¥ 3,600
(d) T 2,400

oo qedl ° 129 i 9fg & e, R A ==
I8! S @1 B, df @9q § feead gfasa i
HET B 2

(a) 16%%
2

b) 102%

(b) 7

(c) 16§%
5

(@) 10%%

e fh fopeft 7t & wmw o w1 4 9E W 18 km

HT @ar & IR 10 Tl H IO IA@r 2|

frafaftaa el w foem $ifsw .

1. g & faudta =afe $it I 1.8 km T
IR |

2. 38t g UMl H Atk hl =M 3-15 km Fid
HIT B |

3. YW hl = 1-35 km 9fd "1 2 |

393t A § HH-A HAF TE 8 2

(a) had 13 2

(b) <had 2 3R 3

(¢) had 137K 3

(d) 1,233




46. If a triangle has sides 5, 13 and 12 units and 0
is the acute angle of the triangle, then what is
the value of (sin 0 + cos 0) ?

59
(a) —
13
7
b G
(b) 13
12
(c) E
17
d e
(d) 13

47. If 0<x< %, then (sin x + cosec x) is
(a) >2
(b) <2
@ =22
d =<2

m?2 —n? T

48, If sin8=ﬁ and 0 <0 < —, then

m*“ +n 2
what is the value of cos 6 ?
2mn
(a) ————
mz b 1'12
2mn
by ————=
mZ —n?
© m? + n?
2mn
2 &
m“—n
d T
(& 2mn
STS-M-TPT

49.

50.

51.

(14-A)

If angle A of triangle ABC is 30° and the
circum-radius of the triangle is 10 cm, then
what is the length of side BC ? '

(a) bem

(b) 10cm
(¢0 5+/3cm
(d 10v3 em

sin 45° — sin 30°
If A= d
cos 45° + cos 60° .

sec45° — tan 45°
B = , th hich f th
cosec 45° + cot 45° SRR

following is correct ?

(a) A=B
(b) A>B>0
(c) A<B
(d B<A<0

If 8 measured in radians is the angle between
the hour hand and the minute hand of a clock
when the time is 4 : 36 pm, then which one of

the following is correct ?

E<B<E
5

(a) E

2n 3n
—<

b on
(b) 5 9<5

LT T
5 5

7_1':8811:

d =
(@ 15 156

A
A



46. e wh By A yomd 5, 13 3 12 7 § 3R

o T3St 1 =LAV B, T (sin 6 + cos 6) T AE

TR ?

(a)
(b)
(c) —

(d)

47. Uﬁ O<x< % %, a (sin x + cosecx}%
(a) >2
b) <2
ey >2
- dy =2
m?Z —n? b
48, 2lﬁsin@: ﬁ'{046<—%,ﬂ-’\lc059
m? +n? 2
& HE 18 ?
2mn
(a)
m? + n?
2mn
(b)
AP il
© m? + n?
2mn
2 2
m* —n
d e S -
() 2mn
STS-M-TPT

49. I FYS ABC &1 HIT A, 30° 8 AR Bys &

50.

51.

(15-A)

aRgw i 531 10 em B, @ Y11 BC 1 I8
TR ?

(a) 5cm

(b) 10cm

(© 5+v3cm

(d 1043 cem

Elﬁ,' A sin 45° — sin 30° 3R

cos 45° + cos 60°

B = sec 45° — tan 45° %,T‘ﬁ& ﬁ:ﬁ f[@[

cosec 45° + cot 45°

SHi-ET &’ 2
(a) A:B
(b) A>B>0
() A<B
(d B<A<O

gfe o, foraest A9 ez o g, foelt vt & we
$ gd o fre B g F T B w0 E o
T 4 : 36 3T @, qf Ffafea & & FE-a1
TE R 2

3n 47
__<B it
(a) 5 5
(b) i B<%
5 5
T T
(e) ol 2 | g
% g 5
W EanglE
15 1




52. Consider the following statements :

1: If 45° <06 <60° then
sec? 8 + cosec? 8 = o for some real
number ¢ > 1.

5, Wi eh<dl® e S0 Sy

1-cos0
some real number x > 2.
3. If 0° <8 < 45°, then
cos O sin O
+ 2
1—tan® 1—cotO

What is the number of true statements ?

(a) Zero

(b) One

(e) Two

(d) Three

53. Let AB represent a building of height h metre
with A being its top, B being its bottom. Let

A’B’ represent a tower of height (h + x) metre

(x > 0) with A” being its top and B’ being its

bottom. Let BB’ = d metre. Let the angle of

elevation of A’ as seen from A be 45°.

Consider the following statements :

Staternentl: h+x>d

Statement II : The angle of depression of B as

seen from A’ is less than 45°.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(c) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

STS-M-TPT

54.

55.

56.

(16-A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be N a®E on the opposite parallel
bank. He then walks 200 m along the bank to
the point Y towards East, and finds the tower
to be N p°W. From these observations, the
breadth of the river will be

(Given that tan 0° = 2 and tan p° = 0-5)

(a) 60m

(b) 70m

() 80m

(d) 90m

The wvalue of ol where 1° represents
sin 1°

1 radian is

(a) Equaltol

(b) Lessthanl1

(¢) Greater than 1 but less than 2

(d) Greater than 2

The diameters of two given circles are in the
ratio 12 : 5 and the sum of their areas is equal
to the area of a circle of diameter 65 cm. What
are their radii ?

(a) 12cmand5cm
(b) 24 cmand 10 cm
(¢) 60cm and 25 em

(d) 30cmand 12:5 em



52.

53.

STS-M-TPT

frferfiad ea R fo=m Shifs .

1. 9fe 45°<p<60° 7, A
sec28+cosecge=a2%ﬁaﬁﬁiﬁﬁ@1
a>1% e |

2. It 0°<6<45°8, al

Lremd_ o o

—cos O
TEdfereh HEAT x > 2% fAU 7 |
3. I 0°<0<45°%, @t
1?5328 1?(;:922%!
TET T hl T T 8 2
(a) IHA
(b) Th
(¢
(d) =
M ffiw AB, h Hex = it UH TR * |55,
frefua wtar 8 &1 A SHET WY AR B 36
ad 2 | "H ofifet AR, (h+x) HiX
(SEf x > 0) s i v MR i it warn
® &l A’ 391 3Y 3T B 3T a9 B | U
+fifSw BB = d fiex 8 | A =fifome A @ 2@
A’ T ITH R 45°8 |
Fr=fafaa st w faem fifs .
HITI : h+x>d
FYTII: A’® @ AT B T G0 HI0T 45°
C 56.
I wuEl & el 0 ffafeg 4 @ s\
TE R ?
(a) FF I 3R FF II g1 T8 &, 3N
FY 11, HF 1 H T8l =9 2
(b) A I 3 oM II oAl &8 &, 9
HYF T1, HIA 1 hl &l ITeT 781 2
(¢) YT ITET 8, 9T I 1174 &
(d) Y ITAd §, Wq S 11 T8 8
Gy

54. W €, 50 9r T fear S @, & Xy

fem w, X fig W @e1 o0 v =6 @
I TG RN 9 T fAR # N« E F
FER Ea & | 5 o <afe R % @y
fesm & ot v forg % 200 m =@ @, ok
AR 1 N o W bl feufa # wrar @ | =9 Jeo
% IFHER, T4 i drers @ anft 2

(fezm T B 76 tan a° = 2 31K tan p° = 05 8)
(a) 60m

(b) 70m

(¢) 80m

(d) 90m

sin 1°

H UH F= o', @l 16 1w &

sin 1°

frefia = g 2

(a) 1% ST

(b) 18 FH

(¢) 1® Aftrep, foheg 29 1
(d 2% 3fees

fauw 7T @ 1 % AW 12: 5% @ ¥ § 7R
3T SFA%A! BT ANHA, 65 cm STH I1A Th
Ik GF%A o FUS g | Ih! HeATE FE 2

(a) 12cm 3T 5em

(b) 24 cm 3R 10 em
(c) 60 cm 31T 25 cm

(d) 30cm 3 12:5 ecm




57. A hollow cube is formed by joining six
identical squares. A rectangular cello tape of
length 4 em and breadth 0-5 em is used for
joining each pair of edges. What is the total
area of cello tape used ?

(a) 12 square cm
(b) 24 square cm
(e) 36 square cm
(d) 48 square cm

58. Two straight lines AB and AC include an
angle. A circle is drawn in this angle which
touches both these lines. One more circle is
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
circle is 9 times the area of the smaller circle,
then what must be the angle A ?

(a) 45°
(b) 60°
() 75°
(d) 90°

59. An isosceles triangle is drawn outside on one
of the sides of a square as base in such a way
that the perimeter of the complete figure is
o times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square ?

(a) 1:1
(b) 2:3
ey . 18
d 1:3

60. What is the area of the triangle whose sides
are 51 cm, 37 cm and 20 ecm ?
(a) 300 square ecm
(b) 305 square cm
(¢) 306 square cm
(d) 307 square cm

STS-M-TPT

61.

62.

63.

(18-A)

Segment QR of length r is a tangent at Q to a
circle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region ?

(a) T_Gz

(b) 523 - %2
(c) % = r:lr_;
- St

In a triangle ABC, AD is perpendicular on BC.
If 2« BAC =90° AB =¢, BC =a, CA =b and
AD = p, then which one of the following is

correct ?

(a) p=abe

(b) p=he

(@ p= be
a

@ p=2

AB and CD are parallel chords of a circle 3 em
apart. If AB =4 em, CD = 10 cm, then what is
the radius of the circle ?

(a) Tem
(b) J19em

(c) @ cm

(d) 14cm



57. ©: TAGH N HI NEH Th GrE T SR
T R | AR % ues gm w Sied & T
4 cm TS 3R 0-5 cm ANSE G1) Teh HRATHR
et <9 1 @ R T ® | e 7 ferw
el 29 T Fl FABA fohaT § ?
(a) 121 em
(b) 24T em
(c) 3869 cm
(d) 48 em

58. Gl Wil @MW AB 3R AC Ueh WiVl a-Kdt & | 39
S0 H TH g ST G R S G aHl s
Y FA 2 | TF A AR S A g S
T qH Tl % WY, gEe 9t g9 @ off
o3l Al @ | 9l 9 ol g9 6 &, Bie
T g o ATHA HT 9 TAT 8, °l HIU A H HH
TR 2
(a) 45°
(b) 60°
(¢) 175°
(d) 90°

59. fodt ot i goren # ¥ feft w # muR
WL, M H S Th wHigeTg BYS @ S
s A @ fop dqui seRfa w1 g aRfes
aﬁ%qﬁmw%ﬂm%lﬁaﬁr%mm,
i o % &F%he o U HT1 8 ?
(a 1:1
(b) 2:3
(e) 1:2
(d 1:3

60. 30 BIys & &Fwa fram 2, fweht gemd
51cm,3’?cm3ﬁ'{20cm%?
(a) 300 em
(b) 805 cm
(¢) 306 ecm
(d) 3079 em

STS-M-TPT

61.

62.

(19-A)

r TS W T W@Es QR, B ¢ ek
Frgferg P AT TH 90 & foag Q T onff 2 |
BYS PQR % 30 & #1 aFwa =1 8, W
AR &7 H T B ?

(a) %

(b) ; - %
(c) % = nlr—sz
(d) % . ’%2

s By ABC #, AD, BC W w5 & | afe
Z BAC = 90°, AB = ¢, BC = a, CA = b 3K
AD =p &, at frforfga & & S9-ar & 8 2

(a) p=abe
(b) p?=hec
) p= e
a
(d p= L

AB 3 CD, T% g it I Samd & St 3 em
H gl e |A¢ AB=4cm,CD=10cm &,
I 1 Prew R 7

(a) T7cm

V19 cm

(e) V29 ¢m

(b)

(d) 14cm




64.  The diagonals of a cyclic quadrilateral ABCD

65.

66.

STS-M-TPT

intersect at P and the area of the triangle APB
is 24 square em. If AB = 8 em and CD = 5 em,
then what is the area of the triangle CPD ?

(a) 24 square cm
(b) 15 square cm
(e)  12-5 square cm

(d) 9-375 square cm

In an equilateral triangle ABC, BD is drawn

perpendicular to AC. What is BD? equal to ?
(a) AD?

(b) 2AD?

(c) 38AD?

(d) 4AD?

The distance between the centres of two
circles having radii 9 cm and 4 cm is 13 cm.
What is the length of the direct common

tangent of these circles ?
(a) 12cm
(b) 1lem
(¢) 10cm

(d) 95cm

67.

68.

69.

(20—A)

If PL, QM and RN are the altitudes of triangle
PQR whose orthocentre is O, then Q is the
orthocentre of the triangle

(a) OPQ
(b) OQR
(c) - PLR
(d) OPR

In triangle ABC, £C = 90° and CD is the
perpendicular from C to AB.

If (CD)2 = (BC)2 + (CA) %, then which one of

the following is correct ?
(a) BC.CD=AB.CA
(b) AB.BC=CD.CA
(c) CAZ%+CB%=2(AD?+CD?

(dd AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A, B,
C and D, then OB? + OD? will be equal to

(a) 2002+ 0A2
(b) OC2%-0AZ
(c) OC24+0A2

(d) O0C?+20A2




64.

65.

66.

STS-M-TPT

us wehT =wgds ABCD % fasul P w wftesg
Fd & 3N BT APB 1 &5%d 24 91 cm 7 |
4f& AB = 8 cm 3R CD = 5 cm 8, @ 349 CPD
1 BTG T B ?

(a) 249 cm

(b) 153 em

(¢) 1259 cm

(d) 9-375 9 em

% wHag fAYS ABC #, BD, AC W d€dq
it it 8 | BD? forues sUST R ?

(a) AD?

(b) 2AD?

(c) B8AD?

(d) 4AD?

90m3ﬂ'{4cm5ﬁﬁwaﬁa'|@?ﬁ§?ﬁ%a'7ﬁ
% o9 6l gt 13 cm B | T FAl hH WIS

srgeast Y it g =R 2
(a) 12cm
(b)

11 cm

(c) 10 cm

(d) 95cm

(21-A)

68.

69.

67. I PL, QM 3T RN, 39 < PQR & sfidas

2 S & $g 08, @1 Q, Fopw Bym +1 &m0
FER?

(a) OPQ

(b) OQR

(cy PLR

(d) OPR

£t ABC H, £ C = 90° 3 CD, C § AB W
W 2 Ak D)2 = BOZ + (A2, @
frefafad & 8 s adt 8 2

(a) BC.CD=AB.CA

(b) AB.BC=CD.CA

(0 CA?+CB?=2(AD? + CD?

(d AB.CD=BC.CA

IfE wh I ABCD % foret 3fa: fomg O 1
ofif fomgatt A, B, € 3R D | Sirer S 2, @

OB? + OD? ferueh SRR BT 2
(a) 20C? + 0A?
(b) 0C?-0A?
() OC24+ 0A?

(d) O0C?+20A2



70. A cylinder of height 2x is circumscribed by a
sphere of radius 2x such that the circular ends
of the cylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the
sphere ?

(a) +3:4
(b) 3:3
() 3:2
@ 3:1

71. A cylindrical vessel 60 c¢cm in diameter is

partially filled with water. A sphere 30 cm in
diameter is gently dropped into the vessel and
is completely immersed. To what further
height will the water in the cylinder rise ?
(a) 20cm
(b) 15cm
() 10cem
(d 5em

72. The vertical angle of a right circular cone is g
and the slant height is V2 r cm. What is the
volume of the cone in cubic ¢cm ?

(@) mrd
(b)  9nmrd
3
nr
(c) T
(d 8mrd
STS-M-TPT

73.

74.

75.

(22—-A)

The radii of the frustum of a right circular
cone are in the ratio 2 ;: 1. What is the ratio of
the volume of the frustum of the cone to that
of the whole cone ?

(a)
(b)
(c) 3:4
(d)

128
104

7:8

From a solid cylinder whose height is 8 cm
and of base radius 6 cm, a conical cavity of
height 8 cm and of base radius 6 cm is formed
by hollowing out. What is the inner surface

area of the cavity ?
(a)
(b)

671 square cm
8n square cm
(¢) 10m square cm

(d)

601 square cm

A tent has been constructed which is in the
form of a right circular cylinder surmounted
by a right circular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the cylinder is 10 m and the total height of the
tent is 15 m, then what is the capacity of the

tent in cubic metres ?

(a) 37500m

87500~
3

(b)

26500n
3

(¢)

(d) 25000n



70. 2x TS AT Uk ded, 2x BT 9™ U e
¥ 3@ TR 9fer ® T Sem % g9 on, M
T A Y g & | Seid % dsh TS St H
Tt % YT &A%E § STIU w4 8 ?
(a) +/3:4
(b) /3:3
() /3:2
d 3:1

71. 60 cm ST AT Th SRR §ad M6 §9
¥ Ot & W R R | 30 em A AT Th A
1 ot A wd7 g smar @ ot 98 @ we 9
o TAT 8 | ITHERR S H 9T TR S 38
ST ?
(a) 20cm
(b) 15em
(c) 10 cm
(d bHcm

72. wmgﬁa%aﬂaﬂﬁwg‘%aﬂtﬁ?ﬁ
ﬁ@bﬁﬁﬁrcm%lﬁwwﬁl:lcm
" fepar 2 2
(a) mrd
(b) 9nr®

TCI'S

(C) T
d 3m®

STS-M-TPT

73.

74.

75.

(23—-A)

U g U o fowew (wEed) = B
2:1% UM U & | P & fod% & A
T, T ¥ o AT & AY I R ® 2

(a) 1:8
fb) 1:4
() 3:4
dr 7:8

ﬁcmWﬁwaﬂTBCmmmﬁaﬂ
S ¥, 6 cm YR s 3R 8 em F=T8 H
wH 39 WF Femra fomm S 8 1 3W YR
e # ffifa gfesr &1 erafls gda @awa
fraT 8 2

6m Tﬂf cm
87t5|1'|f cm

(a)
(b)
(¢) 10m a1 em

(d) 60n a1 em

uh e 1 i R T § S we-geiE dew
% SR @S A-JUN WF o AHR Hl 8, a0
Yigh I 3787, S o & o W] & | Al ST
% YR # BT 50 m, §@T H FEE 10 m
3R o FA SR 15 m B, A q hT A
(A=) = i 7 fohadt 2 2
(a) 37500m

87500~
3

(b)

265007

(c) 3

(d) 25000m




76.

77.

78.

STS-M-TPT

Two rectangular sheets of sizes 2n x 4n and
m X 6n are available. A hollow right circular
cylinder can be formed by joining a pair of
parallel sides of any sheet. What is the
maximum possible volume of the -circular

cylinder that can be formed this way ?

(a) 4n>

(b) 8n?
(¢) 1252

(d) 62552

In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to
BE such that F is on AC. If AC = 9 em, then

what is CF equal to ?
(a) 2:25cm
(b) 3ecm
(e)

(d)

4-5 cm

6 cm

In a triangle PQR, X is a point on PR and Y is
a point on QR such that PR =10cm,
RX=4cm,YR=2cm, QR = 5 cm. Which one
of the following is correct ?

(a)
(b)
(c) PX=QY

XY is parallel to PQ

PQ = 2XY

(d) PQ=3XY

79.

80.

81.

(24—A)

Consider the following statements in respect

of three straight lines A, B and C on a plane:

1. If A and C are parallel and B and C are
parallel; then A and B are parallel.

2. If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C is
equal to the acute angle between B and
C; then A and B are parallel.

Which of the above statements are correct ?
(a)
(b).

1,2and 3
1 and 2 only
(¢) 1and3only

(d) 2 and 3 only

The diagonals of a rhombus are of length
20 em and 48 cm. What is the length of a side
of the rhombus ?

(a) 13 cm
(b) 26 cm
(c) 36cm
(d 39cm

An arc of a circle subtends an angle n at the
centre. If the length of the arc is 22 cm, then

what is the radius of the circle ?

(Take & = g)
7

(a) bHcm
(b) 7ecm
(¢) 9cm
(d 11lcem




76. 2 x 4n 3 1 x 5r AP H Q) HAAHR G
I9erey & | fopelt oft o= B awiar snett & w
S =l TR Ush WGl Te-geii oeq SHIE
ST HAT & | T PR SHIG ST b a1l g
S T AT GHT ARG T & ?

(a) 4n?
(b) 8n?
(¢ 125n2
(d 625n?

77. TF BT ABC #, WIfERE AD 31K BE, G W
yfoeag Fdt 8 | BE % WHIH T& &1 DF 54
wR @it T R 6 fomg B,y AW ® 1 3fg
AC=9cm &, @ CF formrh st 8 7
(a) 2:25cm
(b) 3cm
(¢) . 45cm
(d 6cm

78. TH S PQR ®, PR W T fag X 3™ QR
W TH fog Y39 YHR & 6 PR = 10 em,
RX =4 cm, YR=2cm QR = 5 cm & |
fr=ferfaa § & wivar 98 8 2
(a) XY, PQ% HHIK 8
(b) PQ=2XY
(0 PX=QY
@ PQ-=3XY

STS-M-TPT

79. Tk GUdT W T Tl& @it A, B I C ®

80.

81.

(25-A)

gey ¥, f=fafiga el o fomm Aifse
1. gfe A 3R C g9 8 991 B 3 C "HIE
2. AN BEHE & |

9. TRACWETEMB CTTTE A A
IR BETE |

3. dfe AR Cc% & %1 =Esivl, B 3R C
% ST o LTIV o TSR 8; @1 A 3R B
HHia |

I9YE H § PIH-Y FIT el 8 2

(a) 1,231 3

(b) whad 137 2

(¢) Had 13K 3

(d) et 23R 3

U GEEgHS o a0l @IS 20 cm IR
48 cm B | TESQHS H UH WS Y S F90
g7

(a) 13 cm
(b) 26cm
(¢) 386cm
(d) 39em

U A h A FHeg W HI0 ¢ FAkd w2 |
gf¢ =9 $I g 22 em ®, A1 99 hl HswT w4

7 (n=22 <fiftm)
(a) bSem
(b) Tem
(¢) Y9cm
11 cm

(d)



82. One-fifth of the area of a triangle ABC is cut
off by a line DE drawn parallel to BC such
that D is on AB and E is on AC. If
BC = 10 cm, then what is DE equal to ?

() bem

(b) 2V5em
(¢ 3+v5cem
(d 4v5em

83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of
points at which they can intersect ?

(a) 15
® 21
(c) 28
(d) None of the above

84. A closed polygon has six sides and one of its
angles is 30° greater than each of the other
five equal angles. What is the value of one of
the equal angles ?

(a) 5h5°
(b) 115°
(c) 150°
(d) 175°
STS-M-TPT

85.

86.

(26—A)

Consider the following statements :

1. The of the
perpendicular bisectors of the sides of a
triangle may lie outside the triangle.

point of intersection

2. The point of of the
perpendiculars drawn from the vertices

intersection

to the opposite sides of a triangle may lie
on two sides,

Which of the above statements is/are correct ?
(a)
(b) 2only

(c) Both1and?2
(d) Neither 1 nor 2

1 only

For the next five (05) items that follow :

In a University there are 1200 students
studying four different subjects, Mathematics,
Statistics, Physics and Chemistry. 20% of the
total
Mathematics, one-fourth of the total number

number of students are studying
of students are studying Physics, 320 students
studying Statistics
students are studying Chemistry. Three-fifth
of the total number of students studying
studying
studying
studying

are and remaining

Chemistry are girls. 150 boys are
60% of students
Physics are boys. 250 girls are
Statistics.

Mathematices.

What is the total number of boys
Statistics and Physics ?

studying

(a) 180
(b) 240
(¢) 250
(d) 310



82. Us BYS ABC % &%a & el faedl, TH
@1 DE gN I T 8, Si&l DE, BC % FHIWR
59 g ©idl T & 5 D, AB 9T 3l E, AC I
2 13 BC =10 cm 8, < DE fohass sq=r 2 2
(a) +5em
) 2+/5cm
(¢) 8+5cm
(d 4+5cm

83. TUHh ¥AdA U 8@ 7, foad | &g +ff & 3w
§ gt 74 & | forgelt A 9 ftean s
71 & om W 3 ufe=ie &t gt & 2
(a) 15
(b) 21
(c) 28
@ 39w ¥ i3 T

84. TH 9g SgUS i B: YIC & IR IS TH
IV, 3 e SO BV & 30° ST & | SR
Fio # & forHl T o7 1 A @ 9
(a) 55°
(b) 115°
(© 150°
d 175°
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85.

86.

(27 =K

Frafefgd wemt w famm Fifse .

1. Tt By R gonett & o9 gl @
sfoese forg By & wmet &1 @ 2 |

2. Twel fgs ®, 3o ofivl @ @ yeed
W Eie T AN 1 diiedg foeg 3w
By i g et W & Fehar |

I9YE § F HH-AT/A FYT TE BAE 2

(a) a1

(b) Sha 2

(c) 13K 2 gl

(d Tar 1,782

ST ST FTER GIeT (05) TIFTINT & To7w

s favafaarem § 1200 faeneff &, s =n fim
ot — i, wifeadht, wifas fasm 3R WA
faee &1 steren W W | et f 3
T W 20% T W1 LR WX W R,
it f o wEm w1 wwaAaE e
Tosm @1 ST @ R, 320 foendf wifeah
1 eI B © o R A9 foreneff wrm fosm
T IR W @ & | WEd A e serm
F et faanft Y Fo e = = "o i
YA ASTRAT B | 150 ISk IO hl STEIIT Y
® & | vifos fogd & srewgn w0 9@
ferenfefat &1 60% =19 @gs § | 250 wefRAT

TIfeTeh! 1 317 X & 3 |

gifersht 3t wifas fagm &1 e =@ a9«
SIShI <hl el TEIT FAT 8 7

(a) 180

(b) 240

(e) 250

(d 310




87.

88.

89.

90.

STS-M-TPT

The number of girls studying Statistics is
what percent (approximate) of the total
number of students studying Chemistry ?

(a) 588
(b) 1735
() 787
(d) 806

In which subjects is the difference between the
number of boys and girls equal ?

(a)
(b)
(e)
(d)

Mathematics and Chemistry
Statistics and Chemistry
Mathematics and Physics

Mathematics and Statistics

What is the difference between the number of

boys studying Mathematics and the number of

girls studying Physics ?
(a) 20
(b) 30
() - 60
(d) 80

What is the ratio of the total number of boys to
the total number of girls ?

(a)
(b)
(c)
(d)

67 : 83
17: 26
27:19
189 : 179

91.

92.

93.

(28—A)

Frequency density of a class is computed by

the ratio

(a) Class frequency to the class width

(b)  Class frequency to total frequency

(¢) Class frequency to total number of
classes

Cumulative frequency up to that class to
total frequency

A small company pays each of its 5 category
‘C’ workers ¥ 20,000, each of its 3 category ‘B’
workers T 25,000 and a category ‘A’ worker
¥ 65,000. The number of workers earning less

than the mean salary is

(a) 8
(b) 5
() 4
d 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed ?

(a) 44km/hr
(b) 45 km/hr
(¢) 50km/hr
(d) 25 km/hr




87.

88.

89.

90.
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HIFEThT T T FA Tl TSRl o g,
WA fos #1 eEE S ard $or fami
61 G&IT T T T TiewE B 2

(a) 588
(b)
(e) 787
(d)

73-5

806

fopa fawart # el oit wiefral i gem & o=
T 3T T 8 2

(a) TIford 3R A foagm

(b) Hifewhl 3R w@EA s

(¢) TIfore R wifes fomm

(d) Tt AR ifeaht

T ST A HH I ASHI I TE IR
Mifaes fagm =1 1o 1 ol wefnal &
&I & o= T A R R ?

(a) 20

(b) 30

(¢) 60

(d) 80

TEH h Fol G H AShal Hl Hl G A
9T TR 2
(a) 67:83
(b)
() 27:19

17: 26

(d 189:179

91.

92.

93.

(29-A)

freft @t 1 arawar @ fhg eHum g
gfterfora femam simar @ 2

(a) & SRERAT 1 a1 $ = A FquE
(b) S STERAT T Hehed TRERET & AT
(c) <l SHSRAT T 1 6l T T & IUW

(@) 39 o a% h g SRETE F ogEA
TR | YT

T B HET 3 0T F T—E 5w
H T 20,000, B’ T H TA® 3 HHANE I
¥ 25,000, 3R ‘A’ T F TH wHIA HI
T 65,000 T A HAT 8 | HET 99 ¥ FH

FAM AT SR AT e TR @ 2
(a) 8
() 5
() 4
(d 3

Teh TEHT 4 kon/H2T Sl 1A & 12 km sh1 1T
T & 3 R 5 km/EeT Y =067 A 10 km Y
qET T & | ST 3 = &= oft 9

(a) 44 km/oeT
(b) 45 km/ST
(¢) 50 km/HeT
(d) 25 km/geT



94, The pie diagrams on the monthly expenditure
of two families A and B are drawn with radii
of two circles taken in the ratio 16:9 to
compare their expenditures.

Which one of the following is the appropriate

data used for the above mentioned pie

diagrams ?

(a) ¥ 16,000 and T 9,000

(b) ¥ 8,000 and T 4,500

(c) < 25,600 and ¥ 8,100

(d) ¥ 4,000 and T 3,000

95. Consider the following statements :

Statement I : The wvalue of a random
variable having the highest
frequency is mode.

Statement II :  Mode is unique.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement Il is not the correct
explanation of Statement I

(¢) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

96. Which one of the following is not correct ?

The proportion of various items in a pie

diagram is proportional to the

(a) Areas of slices

(b)  Angles of slices

(c) Lengths of the curved arcs of the slices

(d) Perimeters of the slices

STS-M-TPT

97.

98.

99.

100.

(30—A)

The geometric mean of x and y is 6 and the

geometric mean of x, y and z is also 6. Then

the value of z is pr
(a) 12

b 6

() 6

@ 6

The total number of live births in a specific
locality during different months of a specific
year was obtained from the office of the Birth
Registrar. This set of data may be called

(a)
(b)
(c)
(d)

Primary data -
Secondary data
Recorded data

Countable data

The heights (in em) of 5 students are 150, 165,
161, 144 and 155. What are the values of

mean and median (in cm) respectively ?

(a) 165 and 161
(b) 155 and 155
(¢) 160 and 155
(d) 155 and 161

The average height of 22 students of a class is
140 cm and the average height of 28 students
of another class is 152 cm. What is the
average height of students of both the

classes 7

(a) 144:32cm
(b) 145-52 cm
(¢) 14672 cm
(d) 147-92 cm



94,

95.

96.
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al i, A 3R B & wifék @< & gona diw
T SR IF @l Hl gAN H H T 3 gl
< BISETSTT T STUTT 16 : 9 T TR |

I aftfa garwEl % o waE B T ad
s, frefofea & @ sma 8 2

(a) ¥ 16,000 3T T 9,000

(b) ¥ 8,000 3T F 4,500

(¢) T 25,600 3R T 8,100

(d) ¥ 4,000 3T 3,000

fafafea et w famm Hifso .

FYF 1 : Alehad SRERAT dTe] Agfodd TR HT
T Sgah (W) HEdm 2 |

97 11 : Sgh (HIe) Al (31=7) dar 2 |

I9YH weET o Ty # Fefafad § @ e
wEl @ ?

(a) HUF I 3 FHoH I g+ =@t 3§, 3k
A II, HUF 1 1 HE TIRT B

HYF 1 3R HE I QA dE §, g
FYT 11, HF 1 1 TE TR T4 B

(c) U IES 8, Tg H 1T &
(d) YT [7TAd 8, T A 11 T8 8

(b)

f=fafad § @ SH-arudt 7587 2 ¢

w gore A faftm wadl #1 ogum fees
HHTIITA BT & 2

(a) 3N F SABel

(b) 39T & I &+
(c) TN o I3k AT hl Treasal &
@) 379 % gfEgt &

97.

98.

99.

(31-A)

xaﬂ'(yim'ﬂ'“ﬁﬂ'(mw G%Tﬁﬂx,yaﬂ(zﬁ
TR He ot 6 | A 2 ST WA T BT 2

(@) 12
YNNG
(c) 6
@ Y6

T TS & wEed ¥, T fGtne o %
faftm oAl & o w fafime T # Siifaa
ST (SHEl) 1 He §E 9T 6 T | 39
(AThST) % 39 TH= ! F1 Hal ST Gehdl & ?
(a) WA (F¥) 39

(b) TIIOT 3UTH

() atuferRaa 3uma

(@ T 39T

5 foenfeia & FHumeat (em #) 150, 165, 161,
144 3 155 & | o "oy AR WS
(fifsa) & A (em H) sHE9: =0 F 2

(a) 165 3T 161
(b) 155 3T 155
(c) 160 3T 155

@ 155 3 161

- |100. TF FaT F 22 it & sfed F=E 140 em

2 3R UH 3 e & 28 faehl & sfiom
F918 152 cm & | ST wanadl & ot
3d TS w1 8 ?

(a)
(b) 145-52 cm
() 146-72 em

(d)

144-32 cm

147-92 em
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W T HTIHT TE THHVT Gieaaht Ter &1 7 FHgT TG ad 7% 7 Gie?

&, &t 1. : STS-M-TPT wdieror gferent Sy

gteroT gieerent
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4T : 7" | gorfer : 100

AN
e gy B 6 aTe, g 39 udierur Yitaent 6 ugdarel Ay o foh 3@ wig faeT o,
mwwgmwm;wm,anﬁwﬂI#ﬁﬁm%,ﬁsﬁn@uﬂmgﬁmﬁwﬁﬁﬁql
FUAT AW T foh OMR I-U=eh H, S T w, Ae 7wy o wdigmon (St
aﬁz)A,B,cmDaﬁ,mﬁqéﬁmﬁwﬁ?grmﬁﬁTﬁ%ﬁmﬁaﬂt wE h e
sefigar 6t § | et ot v &Y u=/foemfa &6 et @ swowres e a1 AT |
39 qieror g Wy § i T s § STt 319
AT foe | wiie i m sk go T id |
7q wltgon g § 100 WA (v) fog e @ | v v Rt o oRsh 2 A W R | e
T # TR yeget (S) fouw e E | o & o wge g o, B ST S WS
IrEa & | IR e v o 5 O A erferen oo wEl €, O 39 WeITR i 3ifeRd i S TR T
M | TS T % Y aer v g TG g ¢
a9t 7o Tt SRR 3T @ R e sEows W g sifhd v € | swens | Ry e fFdy gfew
T4t I % 3 U © |
358 Tea o6 omg gteron F faftr i & TeIRR STRUTE W Al 1 TE W, S9! Fa
JHTL.9F % Gy ufa I % IHER TS foraw IMaTH F A 7 |
mmuﬂﬁﬁﬁﬁmﬂﬁﬁmﬁ%mwm%wmmﬁnmmﬁ%aﬁ
WY T | et I g1 Fheror gieen @ S At It B |
F= W % I ek wleor gieenT & 37 § g 8 |
T 3T o T8 e :
g TeA-uEt § Iufigaw grr R e et et & forg gue fomn wmem |
G) U W ¥ R OR Yfars I § | IEficaR g TS I % T e Tu o e I % e s
¥ T fore e siet o uen-Tagtd ve & w9 # T S |
(i) R S Inficar h & sifsk IR a7 &, @ W T IW AW Sm@m, T Ry T I d @ o W
e Aran 2, T oft 59 wea % fore Sudwer € 36 T o qus fear S |
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fore =g que wE feam s |
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Note : English version of the instructions is printed on the front cover of this Booklet.
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